GROUND

P —

Cl NO—HUB CAP

SCH 40 PVC

ADAPTOR AS
REQUIRED

NOTES:

DR 35 PVC
MAIN SHOWN

— g
\_/\

SS BAND
- SCH 40 PVC

4”7 PLUG

/%
12”7 NIPPLE

47 X 47 X 47 WYE
SCH 40 PVC AS REQUIRED

THE LATERAL SHALL BE A MINIMUM OF 5'—0" BELOW THE EDGE OF
PAVEMENT, EXCEPT WHERE DEPTH OF SEWER MAIN WILL NOT PERMIT.

SACC STANDARD DETAILS

BOLT(S) ON MH FRAME.

PROVIDE BOLTDOWN COVER(S),
ONLY WHERE SPECIFIED

CARRIER PIPE—\

3'—0" MIN

2. 47 SEWER LATERAL — MINIMUM GRADE 1.0%
WSACC TYPICAL SEWER LATERAL
veon WATER AND SEWER AUTHORITY
DATE | BY | CHKD OF CABARRUS COUNTY
NO. FILE NAME: _S1.0 | paTE: _8/06
SHOULDER PAVEMENT
x SHOULDER ¢ DITCH
5" BEYOND f (5" BEYOND TOE
TOE OF SLOPE e ey OF SLOPE)

1/2
FOR

CU. YD. GRAVEL
DRAINAGE

\— STEEL PIPE CASING 8"

TYPICAL PIPE CROSSING UNDER HIGHWAYS

CASING PIPE— {1} L T

CARRIER PPE—ﬁQ}&

WEEP HOLES
SEE NOTE 2

L]

TTT =TT

‘8" D 8

CASING PIPE

1\
M CARRIER PIPE

1/2 CU. YD. GRAVEL
FOR DRAINAGE

TYPICAL PIPE CROSSING UNDER RAILROADS

J

END WALL SECTION

©

1

[m)

Tt
/1

Il [

NOTES:

1.

2 PARTS SAND

©
L COMMON BRICK MORTAR:

1 PART PORTLAND CEMENT

D = DIAMETER OF CASING PIPE

SEE DRAWINGS FOR LOCATION, SIZE AND LENGTH OF STEEL PIPE CASINGS.
2. INSTALL TWO(2) 1" DRAINS EACH SIDE OF CARRIER PIPE IN DOWNHILL END WALL.

WSACC

REVISION
NO.

DATE

BY

CHKD

WATER AND SEWER AUTHORITY
OF CABARRUS COUNTY

ENCASEMENT PIPE
UNDER HIGHWAYS
AND RAILROADS

1. SEE WSACC SPEC 02240 FOR REQUIRED CASING

THICKNESS.

VARIES
(07, MIN— 7 PLACE MASTIC VARIES
2 / k2l
127 MAX) BETWEEN GRADE (07 MIN—
na \R\NGS / 127 MAX)
. GRADE RINGS —
\ AS REQUIRED
\ /CONE SECTION S J
\ ‘ L MH STEPS ‘
\ . 15" 0.C. (TYP) |.
e ey |
J FLAT SLAB UPPER SECTION
e ALLOWED ONLY WHERE DEPTHS WILL
T o NOT PERMIT CONE SECTIONS
— MH STEPS \
:L. 15" 0.C. (TYP)
== ]
3/4” PIPE .
\ DIAMETER ‘ NOTES:

‘ ﬂ / : 1. MANHOLE RISERS AND CONE SECTIONS
Pt . W SHALL CONFORM TO ASTM C—478,
R LATEST REVISION.

bl P 2. TRANSITION RINGS SHALL HAVE A
MINIMUM CLEARANCE OF 2°—0” ABOVE
THE EFFLUENT OVERT ELEVATION.
3. SEE FIGURE S4.0 FOR DROP MANHOLE.
‘ ‘ 4. FLEXIBLE WATERTIGHT, SYNTHETIC
SEWER RUBBER SLEEVES, WITH STAINLESS STEEL
SEE NOTE 4 CLAMP; DRAW BOLT AND NUT: OR
%-::,, ‘ CAST—IN SLEEVE: OR "A” LOCK
3/4" PIPE . CONNECTION SHALL BE FURNISHED FOR
}. P‘AMETER ‘ FACH PIPE TO MANHOLE CONNECTION.
- |
‘ l ## 5. SEE SPECIFICATIONS FOR MANHOLE
S N S O— mRNE DIAMETER.
t L . ) J 6. MAXIMUM HEIGHT OF GRADE ADJUSTMENT
RINGS SHALL NOT EXCEED 127
STANDARD PRECAST
WSACC CONCRETE MANHOLE
REVISION WATER AND SEWER AUTHORITY
OF CABARRUS COUNTY
No. | PATE | BY | CHED FILE NAME: _S2.0 | paTE: _8/06
,_ 1 SIDE VIEW
— 2
/CARRIER PIPE
3
1.5 3 1552
0
[T
Q
- <
4 — 3
._ 2
a
_L END VIEW
1 6 b |
o
LEGS ROTATED OUT OF POSITION FOR CLARITY
CARRIER PIPE SPIDER DIMENSIONS
NOMINAL _ DIA. 0. D. A B C
6” 6.90" 117 1 1/4” 5/8”
8” 9.05” 16 1/2" 2 1/4" 1"
127 13.20" 22 1/27 3" T 1/4”
16" 17.40” 28 1/2° 31/2° 11/2”
24" 25.80” 34 1/4" 4" 2"
PIPE SUPPORT ASSEMBLY MARK NUMBER
NOMINAL _DIA. 1 2 3 4
6" 8" x 2" x 1/4" PL|6" x 1 1/2" x 1/4"PL | 6” x 1/4"PL | 3/8" NUT & BOLT
8" 8" x 3" x 1/4" PL|6” x 3 1/4" X 1/4"PL 6” x 1/4"PL 1/2" NUT & BOLT
127 8" x 4" x 1/4” PL | 6" x 3 5/8" x 3/8"PL | 6" x 3/8"PL_ | 1/2" NUT & BOLT
16" 8" x 4" x 3/8" PL| 6" x 4 3/4” x 3/8"PL| 6" x 3/8"PL | 1/2" NUT & BOLT
24" 8" x 4” x 3/8” PL|6” x 51/2" x 3/8"PL | 6” x 3/8"PL | 1/2" NUT & BOLT
NOTES:

DIAMETER AND MINIMUM

2. CARRIER PIPE IS RESTRAINED PUSH—ON JOINT DIP, PROVIDE TWO SPIDERS
PER JOINT OF CARRIER PIPE.

3. SPIDERS, NUTS, BOLTS & WASHERS SHALL BE STAINLESS STEEL.

4.  ADJUST HEIGHT OF SPIDERS AS NECESSARY TO MAINTAIN SPECIFIED SLOPE.

5. CASING PIPE MATERIAL IS STEEL.

09/08 BY MAL

FILE NAME: _M1.0 | paTE: _8/06

REVISION
NO.

DATE BY CHKD

WSACC

WATER AND SEWER AUTHORITY
OF CABARRUS COUNTY

CASING SPIDER

PROJECT REFERENCE NO. SHEET NO.
U-3440 uc-3D
DESIGNED BY: JDM g,
DRAWN BY: RCC /\\:\*""’é‘g"’/iO(//;/
- 104220 =
CHECKED BY; & Ny 7%
APPROVED BY: ;MuSig%EQh =
REVISED: effury 5 Mooy =
& RIS
NORTH CAROLINA IS
DEPARTMENT OF SRERNOS
TRANSPORTATION i Dy
UTILITIES ENGINEERING SEC. 6/29/2016
PHONE: (919)>707-6690 |UTILITY CONSTRUCTION
FAX: (919)250-4151 PLANS ONLY

DOCUMENT NOT CONSIDERED FINAL
UNLESS ALL SIGNATURES COMPLETED

alley, williams, carmen, & king, inc.
CONSULTING ENGINEERS

FIRM LICENSE No. F-0203
120 SOUTH MAIN STREET
KANNAPOLIS, NC 28082

P.0. BOX 1248
704/938-1515

FILE NAME:

M2.0

|DATE: 09/08

R=1/2 0.D.
PIPE BARREL
CORE HOLE FOR
INFLUENT DIP WITH
CORING MACHINE AND
INSTALL FLEXIBLE
RUBBER COUPLING.
= :7/4“ (SEE NOTE #5)
t A ” »
1/4” X 2
L] HH S4A\NLESS STEEL
|| * * STRAP WITH 2
B B ANCHOR BOLTS
O . BASE SECTION B-B
L SECTION 47 MIN
CLEAR FROM
ELEVATION JOINT (ABOVE ~ﬁ/uf
OR BELOW) —1
OUTSIDE DROP
CUT TO
DIP FOR 20 FEET FIT
) OUTSIDE MANHOLE i
3/4” PIPE

DIAMETER
4 /

NEyige: &
: : ‘; PN K XDIP DROP PIPE MOUNTED WITH

SECTION A—A

STONE BACKF\LLJ

INVERT

|

e

STAINLESS STEEL STRAPS AND i{)ﬂq
ANCHOR BOLTS AT 24”7 CENTERS = %2'
/ ZZ;
=<
. . PVC =
1/47 X 2
STAINLESS STEEL ¢
STRAP WITH 2 DETAIL

ANCHOR BOLTS

1. PIPE FOR INSIDE DROP SHALL BE 35 PVC CONFORMING TO ASTM SPECIFICATION D3034.
2. BOTTOM BEND TO BE 90" SHORT BEND, BELLSPIGOT, OF SDR 35 PVC. SPIGOT OF BEND TO
REST DIRECTLY ON EXISTING SHELF. CONSTRUCT MASONRY TROUGH FROM DROP EFFLUENT TO

MAIN  CHANNEL.
3. NOTCH BELL OF PVC DROP TO ACCEPT DIP SPIGOT AS SHOWN.

4. LOCATE STRAPS AT PIPE BELL AND ABOVE BELL OF 90" BEND AS SHOWN.

ADD EXTRA

STRAPS AS NECESSARY TO MAINTAIN MAXIMUM SPACING OF TEN FEET.
5. HOLE IN MANHOLE WALL TO BE MADE WITH A CORING MACHINE. INSTALL FLEXIBLE RUBBER
COUPLING.

wNo

CORE HOLE SHALL NOT ENTER CONE SECTION.
STEPS SHALL BE RELOCATED IF THEY CONFLICT WITH INSIDE DROP.
A DROP MANHOLE SHALL BE REQUIRED WHEN DIM. "A” EXCEEDS 24" EXCEPT WHEN THE

INLET PIPE INVERT LIES WITHIN THE LOWER HALF OF THE OUTLET PIPE. SEE FIGURE S2.0 FOR
STANDARD MANHOLE.

1/47
P NOTES:
1. VENT PIPE SHALL BE IN ACCORDANCE
WITH SPECIFICATION SECTION 02605.
ELEV SHOWN ON PLANS 2. VENT OPENING TO POINT DOWNSTREAM
1’—0" ABOVE 100 YEAR
FLOOD PLAIN 3. TWO 37 X 3/8” STEEL STRAPS, AND
5/8" X 4" EXPANSION ANCHOR BOLTS
45 SHALL BE USED TO SECURELY ANCHOR
— VENT.
&
> 4. THE FOLLOWING TABLE SHALL BE USED
s TO DETERMINE THE LENGTH OF THE
STRAPPED LEG:
T
O
Lt
- HEIGHT OF LENGTH OF
VENT PIPE STRAPPED LEG
X UP TO 6.00° 3.00°
£ 6.01" TO 8.00° 4.00’
( \ 8.01" TO 10.00° 5.00°
10.01° TO 12.00° 6.00°
— OVER 12.01’ 7.00’
O
L | <+
1
Lol —
a5 ="
a|=
(o
<C| L
o L
=l
)
3/8”
STEEL CAP
STANDARD VENT
WSACC FOR PRECAST
WATER AND SEWER AUTHORITY CONCRETE MANHOLE
REVISION r0 | gy CHKD OF CABARRUS COUNTY
NO. FILE NAME: _S3.0 | DATE: _8/06_
2’-0" X 2'-0"
CONCRETE
PROTECTOR RING
SEE NOTE 1
. ©
—~——— EDGE OF PAVEMENT
2—PIECE TYPE
NN /VAL\/E BOX PER
‘ SPECIFICATION
FOR VALVE
a ,/—TRACER WIRE
K\/WATER VALVE
U
3’—0” MIN
NOTE:
1. USE PROTECTION RING IN SHOULDER OF ROAD.
WSACC VALVE BOX INSTALLATION
SE— WATER AND SEWER AUTHORITY
DATE BY CHKD OF CABARRUS COUNTY
NO. FILE NAME: _W1.0 | DaTE: 8/06

REVISION
NO.

DATE

BY

CHKD

WSACC

WATER AND SEWER AUTHORITY
OF CABARRUS COUNTY

STANDARD DROP
MANHOLE DETAIL

FILE NAME: _S4.0 | DATE:

8,/06




		2016-06-29T11:44:08-0700
	DocuSign, Inc.
	Digitally verifiable PDF exported from www.docusign.com




